(3)= 6 1 9'(3)= 2
?c( e )
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6. The functions f and g have continuous second derivatives. The table above gives values of the functions and

uous ¢
their derivatives at selected values of x.

(a) Let k(x) = f(g(x)). Write an equation for the line tangent to the graph of k at x = 3

Recall Thot the 2 +\~ih35 Nneeded for
on equcﬁ\oh ot Yhe line "rcmgcv\% Vs

| Poet @ X=3 ond 2. Slope @ X=3
To Lind point a¥ X=73, substitute wto
our Luncrion K(%\: 19(%(3\3

= (o)

To find slope ot x=3, take the derivoadiw

ot () U\siv\% dre Choaw Rule ond then

substitute X=3 who the rQSu\“(\V\% K'(XX

() = £(g00) K'(z)=Ff'(¢) - 2
L'(%)= 52

NAEENCIOR g‘(x\
LG =K"(0B3) " 9'6)



\\{-L& = 10 (x-3)\e— Equoiion foc

-\—theh_\' i ne
T 0 (3(‘0?}\ ot K
ok X =3

Legne n this foem.

S(x) | () | oglx) | glx

(= -6 ;
9'(\\ = 3 ;

6. The functions f and g have continuous secon
their derivatives at selected values of x.

(x
3
-2
7
5

-6
2
8
4

d derivatives. The table above gives values of the functions and

(b) Let h(x) = %. Find 1(1).

NS Pe oblemn , we need o Tind the
deriwodig 08 W(x) kASiv\g Yhe Quotient

Rule and Yhen substitute x=\ wnto

ouc  Kh'(K) function.

FO) - g () = g&) - & ()
W) ET‘(X\]Z

£0Y - o (1) - 9(1) £
INOE 0Nk




(-6)- (3) - (2)(3)
Qi

h(\) =

|

- 54 | ~ 3
ORI vl LEO & ‘Z’\

f&) | )| elx) | ()

fl)=5 =+ 55
3 8 7 6 2

_F‘ (/L\ =~ Z 6 - 5 3 -1

6. The functions f and g have continuous second derivatives. The table above gives values of the functions and
their derivatives at selected values of x.

(c) Evaluate jlj f7(2x) dx.

ln Ordec Yo toke Fhe §r\*se<3 ro\ in this
Pro\o\em. we need ¥o uUse U- substitution.

U= 2Zx S\g {'*(u\%i_

du = Z ax L (3 o
e A ) 8 A

Z



0(2)= 2(3)= 6 and u()= 2(N:= 2

L G
..ZS j; (u\ (_\u X c‘kose ‘o CL\OM}Q
the \ntec va\ Ho

Z
_%E_(‘(u\—_li be \n Fecms of y
- [?'(ta\ - 4’(2)]
zL5-62)
AR

\ZS\% F'(2x) dx = %‘\




